Solution Marks Total Comments
Row reduce (or column) Ml
12 6 0 3
0 9 4 15
9 3 18 0
0 2 3 5 Al
Three lines, therefore column reduce M1
1 *
o 15
118 *
o AlF
Four lines, therefore complete Bl
B-1,D-24-3,C-4
Total = 45 minutes Bl 6 CAO
Total 6
Solution Marks Total Comments
Row Reduce
6 9 12 031 M1 or column reduce then row
0 7 12 033 Al
7 6 12 0|32
0 4 11 035
Column Reduce
6 5 1 |0 M1
0 3 1 |0
0 4 11 0
3 lines .. continue M1
5469 AlF OE
—2—6—1
6100
—6—6—
Match ALF
01, 82, P3, R4 BI OE (01, 82, P4, R3)
Min = 147 Bl 9
Total 9




(a) | Add extra column of 76 MI
Reduce rows
606 7 3 0 16 M1
: or reverse order
6l |6 10 12 0 15 Al
6l |0 9 4 2 15
62 |7 10 12 0 14
6515 3 11 0 11
Reduce columns
03 3 0 11
T Ml
6 7 9 0 4 Al
3
7 7 9 0 3
i i |
4 rows, so adjust MI
6 4(0)3 s
34 6 1
© Al
(06 1 5 4
4 4 6 0(0)
s(0)8 3 0
Match Bl
.4-3_3-4_1‘4_5\5.5-2
Min =233 Bl 9
(b) | Add extra column of 60 MI
Subtract all entries from 76 (+) Ml SC Exira column of 76 scores |
09 13 16 16
9 5 3 15 16
Al 3
15 6 11 13 16
7 4 2 14 16
6 8§ 0 11 16
Total 12




